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0.90m 0.5m 0.9m

1.35m 0.5m 1.35m
1.80m 0.7m 0.68m
1.12m
m2
072 x 036 x 027 m? 10 20,061 200,610
L=0.9m D=8 52 700 36,400
0.13 23,400 3,042
1.25 15,800 19,750
4 228 912
260,714




072 x 036 x 027 10 15,046 150,460
L=09m D=8 52 500 26,000
013 23,400 3,042

1.25 15,800 19,750

4 228 912

200,164
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106 120 75 90 kg/
6 7 kg/
60 70 kg/
74 78 /
1.61t 1.55 10
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(1) RAHEOBXF
AARBIEE TR L OREHRIL, ﬁa@ﬁ&m%xanam,__vm ﬁ*@&é%%ﬁ%
ETHLHMERZREERLT3EHINL LTHETS,

(2) BAtAeE
fo .
#AK S=0. 8m D=0.1m
| MKk H=0. 7m D=0. 1m
AR L=0. 9m
I WAk 1l=2. Om
,;::: - D=0.1lm
=0___d < 5,\ OYE h=1. Im
e ————— .‘, U)Dﬁ]ﬁﬂ 1:0. 3
= , =::§ tE r—ms
[ 4 . WELO¥MER y=1. 8t /m’
L : BELIHABIER vi=1. §t/m®

. et e . : B )
' g

H=1.28

Pa

L)

(3) .',L'.E@%"‘ﬁ . ‘ —= l ami62*

TORMERA ¢=30"
HHEL0ES B=33.

7° (1:1..5) ( ¢ LOBBITFERBEMN,)
BABELNET L OAE a=— 167" | ,
FET & BEERK L OERA §=2,/3¢ =20. 0"

TDXEEN _ e=0 - (BRTA.)
HETOBMEHER - y=1. 8t/ m?
TE:-nrRinks,

TERY : KA

‘ K ) = cost($~a)

cosacos(a+&)[l+‘ﬂ("_'l'.w."_m_}
cos{a+d)eos(a—f)
B> CHhaAZ b, S AEIELELT,
os? (¢ —a)
_f:i't= =0, 614
cos*c +cos (& + )
E E=1,/2H'-y - K
=1/2%X1. 28°*xX1. 8X0. 514=0. 758 t/m
RELE PE=E -cos (8 +a)
=0. 758Xcos (20. O+ (—16. 7))
=0. 757t/m?
SMELTFE Pv=E 'sin (5§+a)
0. 758Xsn (20. 0+ (—186. 7))
0. 044t/ m? :




(4) B LEFEE W ,
LEEKABCDO I mEk VA v=0. 878m"
5 bk, BAOKY v=0. 154m’ :

1. 8 (V—v) +0. 8Xv : ‘
HAHER W= =1, 64 t/m?

0. 976m? (CABCDOEH _ - =1. 6t/m?

Wi =0. 8X1. 10x1. 6=1. 41
W1 =0. 8X0. 24X1/2%x1. 6=0. 15

(5) BAKLBYBE—AY MHE

_ #w ' . t/mf T—hE £—2Y bt m/m
B & — —
KEHH $rEAV B KX | 7-AE EE Mo |HEAMT
Pi 0.757 |HX1/3 043 0.326
Py | oo | (®XD) 0.89 10,039
Wi | 164 | 053 0869
Wi S 01s | ‘ ' | os7 - 0.131
- 0.757 L | 0326

(6) REDHRN . -
Mr . 1. 039

EECETAESE  F)= —— = = 3.19
C . Mt 0. 326 .
- 0 sV.f 1. 834X0. 86
VeBhT B B TR Fs = = = 1. 4B
*H 0. 757 .
(ﬁé$1.45améﬁ;moﬁﬁwﬁﬁﬁwﬁmxb+ﬁﬁﬁ)
MRt B | -
BNEHARDBANLOMEME X
- Mr-M0 1. 039—~0. 32686
X= = =0. 39
- RV 1. 834 ‘
B 0. 77 ,
BLEHE e= — —X = — - —0. 39=—0. 005
2 2
TV 6e 1. 83 6 (—0. 0DS)
WBRRSD o= - (1% ). = (1 ———————)
B B 0. 77 0. 77

= 2. 28t/ m*. 2. 47t/ m’
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L=0.7 D= 13.6 450 6,120
L=2.0 D=10 273 740 20,202
L=0.8 D=10 90.9 410 37,269
10 kg 16.1 68 1,095
0,30 5 o o
0.6 23,400 14,040
1.8 15,800 28,440
107,166

m2
0.75x 0.3 m? 10 12000 120,000
04 23,400 9,360
3 15,800 47,400
2 568 1,135

177,895




